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When asked to name the most ferocious'dinosaur, most people would immediately
think of Tyrannosaurus rex, T-rex- for “short..The T-rex could reach a height of
almost fifty feet in length and a weight of five tons. It is equipped with eight-
inch talons on its feet and a huge jaw lined with teeth as long and sharp as steak
knives. 31
Imagine the surprise, then, -when scientists digging in eastern Utah in 1992
found a dinosaur that could well have been a match for T-rex fossilized in the rocky
lands. 32 The Utahraptor was twenty feet long, smaller than the T-rex. However, it
had twelve-inch hooked claws on each of its hind legs. While the T-rex had short,
stubby forelimbs, the Utahraptor had large, powerful arms equipped with ten-inch
claws. With these, it could grasp its prey. 33
With such evenly matched assets; it is hard to imagine what would happen if the
two dinosaurs met each other. However, a contest between the two powerful creatures
never took place. 34 Even though scientists can only speculate as to why that
happened, 1t was fortunate for the other dinosaurs that such formidable predators
did not exist at the same time.
B 3. AWith its sturdy back legs, -the Utahraptor could probably outrun any other
creature.
BWith such a dangerous build, the T-rex was thought to have been the most
terrifying of all carnivorous dinosaurs.
©This is because Utahraptors had been dead for fifty million years before the
T-rex appeared.
DO0nce a victim was caught, it would be slashed and smashed by the raptor s
claws on the hind feet.
D) 32 (A)Once a victim was caught, it would be slashed and smashed by the raptor’ s
claws on the hind feet.
BWith its sturdy back legs, the Utahraptor could probably outrun any other
creature.
©This is because all of the Utahraptors had been dead for fifty million years
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before the T-rex appeared.

(D)The name of this equally terrifying and ferocious dinosaur is Utahraptor.

(A)However, 1t would be premature to say for sure what it was that brought the
dinosaurs to extinction.

BWith its sturdy back legs, the Utahraptor could probably outrun any other
creature.

©The name of this equally terrifying and ferocious dinosaur is Utahraptor.

DO0nce a victim was caught, it would be slashed and smashed by the raptor s
claws on the hind feet.

(AThis 1s because all of the Utahraptors had been dead for fifty million years
before the T-rex appeared.

BWith such a dangerous build, ithe T-rex was thought to have been the most
terrifying of all carnivorous dinosaurs.

©However, 1t would be premature to say for sure what it was that brought the
dinosaurs to extinction.

OWith its sturdy back legs, the Utahraptor could probably outrun any other
creature.

Apart from sheer size, India and China differ from neighboring “ trading

states ” in another critical aspect: their ambition to be the regional

superpower in South Asia and East Asia . .

(Aaggressively @B)individually ©provincially Drespectively

You need to ~ the document before signing it.

(Alundermine (Bfabricate C)peruse (Dexecute

J. K. Rowling, auther of the popular./farry Potter series, exhibits _ control

over her stories.

(A)intrusive (Binaccessible (©impeccable (D)intrinsic

In my family with Chinese tradition, only Daddy and the oldest brother were

allowed individual . Daughters were all expected to be of one standard.

(Acontributions (Bcontroversies

©)idiosyncrasies (D)consistencies

A hairline at the forehead is a part of the male aging process.

(A)conceding Binterceding (C)proceeding (Dreceding

In America, “wellness” has become a huge industry especially to the

prosperous discontent of the baby-boomers.

(Aproposing (Blcatering Cdeferring Dreferring

From a distance it is a postcard image; get closer to Mt. Fuji, however, you

will notice that Japan’ s iconic mountain has a garbage problem, a stark

contrast to a country known for its cleanliness.

(AMt. Fuji maintains a beautiful postcard image and reinforces the clean image
of Japan despite its garbage problem.

BSuffering from a garbage problem, Mt. Fuji is no longer an icon of Japan, a
country as beautiful as a postcard image.

©Although Mt. Fuji 1s not as beautiful and clean as it appears from a
distance, 1t still stands for the cleanliness of Japan.

(D)Though a symbol of the country known for its cleanliness, Mt. Fuji is
actually not as clean as it appears from a distance.

[t seems a very simple thing to tell the truth, but, beyond all questions,

there 1s nothing half so easy as lying.

267 %47 2 BB~ 2 F B http://www. public. com. tw




DB R (98 a4 R M A BAE R
(AThough i1t may appear simple, telling the truth is not as difficult as

telling lies.

B)Though it may appear simple, telling the truth is certainly far more
difficult than telling lies.

©Though 1t may appear difficult, telling the truth is definitely less
questionable than telling lies.

D)Though it may appear easy, telling lies is believed by honest people to be
the most difficult thing.

B 43 Try to improve or optimize one of these global financial crisis parameters and
you end up paying somewhere else along the line.

(A Improving one or two of the global financial crisis parameters is very
likely to create more crisis/parameters in the end.

B)The global financial crisis parameters are so intertwined that you can gain
some here and lose some there.

O©To improve the global financial erisis parameters, you need to take care of
them all at the same time instead of one at a time.

D)You need to pay close attention-to the global financial crisis parameters
before you can even improve or optimize one of them.

(A) 4. It is ironic that the very institutions carrying out the research that informs
the public of global climate change are often not terribly good at acting on
their own understanding.

(A)The fact that research institutions, which provide us with information on
global climate change, are not really good at applying their knowledge in
actual practice is satirical.

(BGlobal climate change is terrible.and it/is ironic that much research has
been done by research institutions-but the public has found little use of the
research result in their everyday life.

O©It is terrible to see that research institutions, which conduct research on
and inform the public about global climate change, often fail to do what they
preach.

(DThat institutions carrying out the research which informs people about global
climate change do not recycle natural resources in the research processes is
ironically expected.

B) 4. As luck would have it, there was typhoon on the day of graduation.
(AFortunately, there was typhoon on the day of graduation.

BUnfortunately, there was typhoon on the day of graduation.

©]I had good luck on the day of graduation.

DI had bad luck on the day of graduation.

%4642 % %004 42
Although the epoch of the crusades ignited a genuine economic and cultural

revolution in western Europe, in the Orient these holy wars led to long centuries of

decadence and obscurantism. Assaulted from all quarters, the Muslim world turned in
on itself. Henceforth modernism became alien. Should cultural and religious identity
be affirmed by rejecting this modernism, which the West symbolized? Or, on the
contrary, should the road of modernization be embarked upon with resolution, thus
risking loss of identity? Neither Iran, nor Turkey, nor the Arab world has ever
succeeded 1in resolving this dilemma. Even today we can observe a lurching
alternation between phases of forced westernization and phases of extremist,
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strongly xenophobic traditionalism.

The Arab world — simultaneously fascinated and terrified by these Franj
[Franks], whom they encountered as barbarians, but whom subsequently managed to
dominate the earth—cannot bring itself to consider the crusades a mere episode in
the bygone past. It is often surprising to discover the extent to which the attitude
of the Arabs (and of Muslims in general) towards the West is still influenced, even
today, by events that supposedly ended some seven centuries ago.

(D) 46. The crusades had a negative impact on the Muslim world, and this idea 1is

suggested by the word _ in the passage.
(Agenuine (Brevolution ©holy (D)decadence
(A) 47 What does the sentence “the Muslim world turned in on itself” suggest?
(A)self-enclosure (B)submission
Oself-pity D)inferiority

(B) 48 According to the passage, the Muslim world has been caught in the dilemma
between self-identity and

(Alobscurantism (Bwesternization
©alternation (D)traditionalism

D 49. What does the word “barbarians’ in the second paragraph refer to?
(Alranians. BTurks. OArabians. (DFranks.

(A) 50. Which of the following words best describes the influence of the crusades on
the Arab world?
(ALong-lasting. (B)Temporary. ©Insignificant. D)Transitional.
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